
PMB Gujarati Commerce College, Indore 

Internal Exam – 20… -20…. 

B.Com – I year 

Subject:- Financial Service & Insurance (Vocational ) 

   fo"k; % foRrh; lsok;sa ,oa chek                                 Marks   max: 10 / min: 04 

Q.1)What are includes in financial service? 
       buesa ls dkSu &dkSu ls Qk;usfl;y lfZoZl esa vkrs gSA 

(a) Loan           (b) Insurance                   (c) Credit card              (d) All 
     ¼v½ yksu   ¼c½ bUlksjsa’k                  ¼l½ dzsfMr dkMZ  ¼n½ l Hkh 
Q.2)which one is not the component of financial system. 
        buesa ls dkSu &dkSu ls Qk;usfl;y lfZoZl dk fgLlk ugha gSA 
   (a) Financial market  (b) Non banking financial Instition  
     (c)  Financial service  (d) Reliance Industry 
    ¼v½ foRrh; cktkj      ¼c½ xSj cSfdax foRrh; laLFkku ¼l½  foRrh; lsok;sa  ¼n½ fjyk;al bUMLVªhl     
Q.3) Reserve Bank wsa established on - 
fjtoZ cSad dh LFkkiuk gqbZ & 

(a) 1 April 1949    (b) 1 April 1935     (c) 1 April 1947         (d) 1 April 1939  
      ¼v½ fjtoZ cSad  ¼c½ Hkkjr ljdkj  ¼l½  nksuksa   ¼n½ dksbZ ugha 
Q.4) In India onae Rupee Note is Issue by. 
       Hkkjr esa ,d :Ik;s dk uksV dkSu tkjh djrk gS & 

(a) Reserve Bank   (b) Indian Government    (c) Both A & B   (d)None 
     ¼v½ fjtoZ cSad   ¼c½ Hkkjr ljdkj      ¼l½  nksuksa v vkSj c  ¼n½ dksbZ ugha 
Q.5) The system Issuing in RBI is of Note.  
         RBI  ds uksV tkjh djus dh iz.kkyh dgykrh gS & 

(a)  Portion  fund system   (b) Minimum Reserve system  

(c)  Both A & B            (d) None of these 
      ¼v½ vuqikfrd dks"k iz.kkyh    ¼c½ U;wure lap; iz.kkyh  
     ¼l½  nksuksa v vkSj c   ¼n½ dksbZ ugha 
Q.6) Main development Bank of India is-   
       Hkkjr dk izeq[k fodkl cSad gSA 

(a) IFCI            (b) IDBI                  (c)UTI  (d) All     
Q.7) Which Institutes the does not provide merchant banking services is-   
       dkSu ls laLFkku epsZaV cSad ds dk;Z ugha djrs gSA 

(a) Cooperative Bank         (b) Commercial Bank          (c)Pvt. Bank (d) Financial Institution 

    ¼v½ lgdkjh cSad   ¼c½ O;kikfjd cSad     ¼l½ futh cSad  ¼n½ fofRr; laLFkk;sa         
Q.8) Advantage of Mutual fund are  -   
       E;wpy QaM ds Qk;ns gS & 

(a) Professional Management      (b) Variety           (c)Diversification (d) All 

    ¼v½ is’ksoj izca/k    ¼c½ fofHkUu fdLe    ¼l½ fofo/krk    ¼n½ lHkh       
Q.9) which one is not credit Rating Agency -   
       buesa ls dkSu ls dszfMr jsfVax laLFkk ugha gS & 

(a) CRISIL        (b) ICRA           (c) IRDA  (d) All 

    ¼v½ is’ksoj izca/k    ¼c½ fofHkUu fdLe    ¼l½ fofo/krk    ¼n½ lHkh       
Q.10) what all documents are necessary for Registration of micro finance -   
       Ekkbdzks Qk;usal ds jftLVsª’ku ds fy;s dkSu &dksUk ls isij t:jh gS & 

(a) Pan card   (b) Photo           (c)ID Proof  (d) All 

    ¼v½ isu dkMZ    ¼c½ QksVks     ¼l½ igpku i=   ¼n½ lHkh     
   
 
 
 



Q.11) which are not a type of Treasury bill 
         buesa ls dkSu lk Vªstjh fcy dk izdkj ugha gS & 

(a) 91 day    (b)  182 day          (c) 364 day  (d)  191 day 

    ¼v½ 91 fnu    ¼c½ 182 fnu     ¼l½ 364 fnu  ¼n½ 191 gnu     
Q.12) Many market Instrument are -   
        dkSu &dkSu  euh ekdsZV ds bUlVªwesaV gS & 

(a) CD    (b) CP           (c) TB   (d) All 

Q.13) Capital market is a -   
        iwath cktkj gS & 

(a) Short term market  (b) Long term market  (c) Both A & B  (d) None 

    ¼v½ vYidkyhu cktkj  ¼c½ nh?kZ dkyhu cktkj  ¼l½nksuks v vkSj c    ¼n½ buesa ls dksbZ ugh       
Q.14) New Issue market is also called -   
        Uk;k fuxZe cktkj dgykrk gS & 

(a) Money market   (b) Capital market       (c) Primary market (d) Secondary market 

    ¼v½ eqnzk cktkj   ¼c½ iwath cktkj  ¼l½ izkFkfed cktkj ¼n½ f}fr;d cktkj     
Q.15) Which one is not the method of selling New / Fresh sectrity-   
        bUkesa ls dkSu lh] u;h fLD;ksfjVh dks tkjh djus dh fo/kh ugh gS & 

(a) Book Building (b) Private placement       (c) Public Issue (d) Minimum Reserve System 

    ¼v½ cqd fcfYMax ¼c½izkbosV IyslesaV ¼l½ ifCYkd b’;w ¼n½ U;wure lap; iz.kkyh    
Q.16) Value of Derivative is based upon – 
       MsfjosfVo dk ewY; fdl ij fuHkZj djrk gS & 

(a) Under laying Asset   (b) Cash   (c)Parties    (d) None 
     ¼v½ cqfu;knh lEifRr     ¼c½ jksdM     ¼l½ i{kdkj   ¼n½ buesa ls dksbZ ugha            
Q.17) Who Regulate Mutual funds in India . 
       Hkkjr esa E;qfp;y QaM dkSu fu;af=r djrk gSA 
   (a) RBI     (b) SEBI  (c) IRDA   (d) ICRA  
Q.18) Function of SEBI is -. 
       SEBI  dk eq[; dk;Z D;k  gSA 
   (a) Registration (b) Control of Broker   (c) Regulation of market  (d) None 
    ¼v½ iathdj.k      ¼c½ czksdj dks fu;af=r djuk  ¼l½  fu;a=.k cktkj dk   ¼n½ buesa ls dksbZ ugha            
Q.19) Name of BSE Index. 
       BSE ds bUMsaDl dk uke D;k  gS& 

(a) Sensey    (b) Nifty  (c) PSU   (d) None 
    ¼v½ lslsDl        ¼c½ fu¶Vh  ¼l½  ih,l;w    ¼n½ buesa ls dksbZ ugha            
Q.20) Full form of IPO is. 
        IPO dk iw.kZ uke gSA 
   (a) Information public offering     (b) Initial public offering  
     (c) Institutional private offering    (d) Innovative private offering 
        
 

 

 

 

 

  

 

 

 

 

 

 



PMB Gujarati Commerce College, Indore 

Internal Exam – 20… -20…. 

B.Com – I year 

Subject:- Retail Management (Vocational) 

    fo"k;%& [kqnjk izca/k  
Q.1)  Retailer is a person who sells the goods in a  – 
       QqVdj  fodszrk og O;fDr gksrk gS tks lEiw.kZ :Ik ls eky csprk gS & 

(a)Large quantities      (b) small quantities (c)  Both A & B      (d) None of these 
      ¼v½ cMh ek=k esa   ¼c½ NksVh ek=k esa     ¼l½ v vkSj c nksuksa a¼n½ buesa ls dksbZ ugha           

(a) Geographic       (b) Demographic            (c) Psychographic  (d) Behavioral 
      ¼v½ HkkSxksfyd    ¼c½ tulkaf[;dh;    ¼l½ euksoSKkfud           a¼n½ O;kogkfjd           

Q.2)  Activities performed by the retailers –  
         [k q njk f od sz rk vks }k jk  dh tkus okyh xfrfof/k;kWa & 

(a) Assortment of offering   (b) Holding stock      (c) Extending services   (d) All of these 
      ¼v½ izlkn dk oxhZdj.k   ¼c½ gksfYMax LVkWad        ¼l½ lsokvksa dk foLrkj ¼n½ ;s lHkh           
Q.3)  For which retail offering location is very important – 
        ---------ftlds fy, fjVsy vkWQfjax yksds’ku ---------- vR;Ur vko’;d gSA 

(a) Mail order     (b) Party plan           (c) Departmental store    (d) Catalog marketing  
    ¼v½ esy vkns’k   ¼c½ ikVhZ ;kstuk         ¼l½fMikVZesaVy LVksj  a¼n½ dSVykWax ekdsZfVax           

Q.4) Factor most popular bases sfor egmenting customer group – 
        lsxesafVx ds fy, yksdfiz; vk/kkj gS & 

(a) Geographic      (b) Demographic             (c) Psychographic  (d) Behavioral 
¼v½ HkkSxksfyd   ¼c½ tulkaf[;dh;           ¼l½ euksoSKkfud           a¼n½ O;kogkfjd    

Q.5) Strategies Planning is mainly concerned with the – 
        j.k uhf r;k W f u;k st u eq [; : I k  l s t qM k  g S  &  

(a)Futurity of present decision     (b) Forecasbry             (c) Planning   (d) All of these 
     ¼v orZeku fu.kZ; dh Hkfo";rk     ¼c½ iwokZuqeku        ¼l½;kstuk   a¼n½ ;s lHkh    
Q.6)  Marketers focus on …….. While maxi musing market share 

        foi.ku /;ku j[krs gS----------- cktkj fgLlsnkjh dks vf/kdre djrs gq, & 
(a) Higher sales volume    (b) Lower unit count  (c) A & B   (d)  None of these 

     ¼v½ mPp fcdzh ek=k     ¼c½ fuEu ;wfuV fxurh       ¼l½ v vkSj c nksuks  a¼n½ buesa ls dksbZ ugh   
Q.7)  while setting the price marketers – 
        fo i .k u esa ewY ; f u/k k Z j.k  d jrs l e; &  

(a)Select the pricing objective      (b) Estimated demand                 
(c) Analysis competition count offers & price              (d) All of above 
¼v½ ewY; fu/kkZj.k mÌs’; dk p;u djs            ¼c½ vuqekfur ekax            

¼l½ izfr;ksfx;ksa ds vkWaQj o ewY;     a¼n½ mijksDr lHkh    
Q.8)  A business may grow by– 
        ,d  O;o lk ; c < l d rk  g S  &  

(a) Futurity of the present decision     (b) Adding new markets      
(c) Adding new lines of business               (d) All of these 
¼v½ orZeku fu.kZ; dh Hkfo";rk            ¼c½ u, cktkj dks tkssMuk          

¼l½ O;olk; esa ubZ ykbus tksMuk    a¼n½ ;s lHkh    
Q.9)   If performance meet consumer expectations the consumer is-– 
        ;fn izn’kZu miHkksDrk dh vis{kkvksa dks iwjk djrk gS   

(a) Satisfied   (b) Dissatisfied   (c) Delighted              (d) Happy 
¼v½ larq"V    ¼c½ vlarq"V      ¼l½ izlUu   a¼n½ [kq’k   

Q.10) First stage in the basic model of consumer decision making is - 
        miHkksDrk fu.kZ; ds ewy ekWaMy dk izFke pj.k gS   

(a) Purchase   (b) Information search        
(c) Evaluation of Alternative              (d) Need        
¼v½ [kjhnnkjh    ¼c½ lwpuk dh [kkst          
¼l½ fodYiksa dk ewY;kdau    a¼n½ vko’;drk   

Q.11) Any I individual who purchase goods and services from the market for his / her end vs. is called a-– 
        dksbZ O;fDr tks cktkj ls oLrq,Wa ;k lsok,Wa [kjhnrk g vius miHkksx gsrq &   

(a) Customer  (b) Purchaser   (c) Consumer             (d) All of theme 
¼v½ xzkgd    ¼c½ [kjhnnkj     ¼l½ miHkksDrk       a¼n½ ;s lHkh   



Q.12)   Retail is the end or final stage of any ……… activity- 
        [kqnjk fdlh Hkh xfrfof/k dk vafre pj.k gS &   

(a) Financial  (b)  Economic   (c) Commercial             (d) Marketing 
¼v½  fofRr;    ¼c½ vkfZFkZd  ¼l½ okf.kfT;d         a¼n½ foi.ku  

Q.13) A zone of tolerance is defined by lower and upper-– 
        lfg".kqrk {ks= dks fupys o mij &&& ds }kjk ifjHkkf"kr fd;k x;k gS   

(a) Boundaries  (b) Lines   (c) Borders              (d) Limit 
¼v½ lhek,Wa    ¼c½ ykbUl  ¼l½ lhek    a¼n½ gn    

Q.14) ………. is not a part of marketing mix-– 
            ekdsZfVax feDl dk fgLlk ugha gS   

(a) Product   (b) Purpose   (c) Place              (d) Price 
¼v½ mRiknu    ¼c½ mÌs’;  ¼l½ LFkku  a¼n½ ewY; 

Q.15) “Every business is a service –‘’ business who a vote this sentences -– 
            ekdsZfVax feDl dk fgLlk ugha gS   

(a) Philip Kotler  (b) Gony Hamel  (c) Ravi Shankar             (d) Ram as Waney 
¼v½ fQfyi dksVyj   ¼c½ xksuh gsesy  ¼l½ jfo ’kadj  a¼n½ ewY;        

Q.16)  ----- deals with the specification of the active goods or service and how it    relates to the target customer.  
        okLrfod eky ds fofunsZ’k ;k lsokvksa o yf{kr xzkgdks ls dSls lEcfU/kr gS& 

(a)Price aspect    (b) Product aspect          (c) Promotion Aspect   (d) Place aspect 
     ¼v½ewY; igyw   ¼c½ mRikn igyw     ¼l½ izpkj igyw           a¼n½ LFkku 

Q17)  CDM stand for – 
         CDM   d k vFkZ gS & 
     (a)Consumer development model  (b) Consumer decision 

     (c) Consumer decision making   (d) Consumer development matrix 
      ¼v½ miHkksDrk fodkl ekWMy    ¼c½ miHkksDrk fu.kZ; feDl      

      ¼l½ miHkksDrk fu.kZ; ysuk     a  ¼n½ miHkksDrk fodkl eSfVªDl 
Q.18)  The first & fore method of Retail is – 
        fjVsy dh igyh vkSj Qksjesu fof/k gS & 
      (a) Counter service       (b) Self service            
      (c) Online service      (d) plus pricing Court  
     ¼v½ dkmaVj lsok,Wa  ¼c½ Lo;a lsok    ¼l½ vWakuykbu lsok   ¼n½ dksVZ Iyl ewY; fu/kkZj.k   

Q.19)  Activities performed by the retailers – 
        [kqnjk fodzsrkvksa }kjk dh tkus okyh xfrfof/k;kW & 
      (a) Assortment of offering  (b) Holding stock      (c) Extending   service (d) All of these 
      ¼v½ izlkn dk ofZxZdj.k   ¼c½ gksfYMax LVkWd   ¼l½ lsokvksa dk foLrkj   a¼n½  ;s lHkh              
Q.20) The sector are classified into public private sector on the basis of – 

        fdl vk/kkj ij {ks= dks lkoZtfud o futh {ks= esa ckaVk x;k gS & 
(a)  Employment condition        (b) The nature of economics activities             
(b) ownership of enterpriser    (d) Number of workers employed in enter miser      
 ¼v½ jkstxkj dh fLFkrh    ¼c½ vkfFkZd xfrfof/k;ksa dh izd`fr    
 ¼l½ m|ksxksa dk LokfeRo      a¼n½ m|ksxksa esa dk;Zkr dzfedks dh la[;k 

  

           

 

 

 

 

 

 

 

 

 

 

   
 
        



PMB Gujarati Commerce College, Indore 

Internal Exam – 20… -20…. 

B.Com – I year 

Subject:- Deck Top Publishing (Vocational) 

fo"k;%&  Mh- Vh- ih- 

     Q -1. What is the full form of CPU? 

         -----------   lh ih ;w dk iwjk uke D;k gS & 
(a) Computer processing unit     ( b)  Central processing unit  

(c)  Computer principal unit      (d)  Control processing unit 

¼v½ dEI;wVj izkslsflax ;wfuV    ¼c½ lsaVªy izksalsflax ;wfuV 

¼l½ dEI;wVj fizalhiy ;wfuV    ¼n½ daVªksy izkslsflax ;wfuV 

     Q -2. ALU is stand for-? 

         -----------   ,,y;w dk vFkZ gS & 
(a) Alumni Local unit      ( b) Arithmetic Logo unit  

(c)  Algebraic Logo unit      (d) Arithmetic Logic unit 

¼v½ ,yqeuh yksdy ;wfuV     ¼c½ vFkZeSfVd yksxks ;wfuV 

¼l½ vytsfczd yksxks ;wfuV    ¼n½ vFkSeSfVd ykftdy ;wfuV 

     Q -3. Who is the ‘Father of Computer’?                

Qknj vkWaQ dEI;wVj  ds :Ik esa tkus tkrs gS & 
(a) Pascal   ( b) Newman  (c)  Hollerith  (d) Charles Babbage 

¼v½ ikLdy   ¼c½ U;weu   ¼l½ gkssysfjFk ¼n½ pkYlZ cscSt 

     Q-4 The term ‘Computer’ is derived from - 

        ‘’kCn dEI;wVj dgka ls fy;k x;k gS &  
   (a)Greek Language    (b) Sanskrit Language 

  (c)  Latin Language     (d) English Language 

 ¼v½ xzhd Hkk"kk  ¼c½ laLd`r Hkk"k  ¼l½ ysfVu Hkk"kk  ¼n½ vaxzsth Hkk"kk 
     Q-5.Which of the following is a input Device- 

           buesa ls dkSu lh buiqV fMokbl gS & 
(a) Plotter     (b)  Printer   (c) VDU    (d) Mouse 

¼v½ IykWaVj   ¼c½fizaVj   ¼l½ ohMh;w   ¼n½ ekÅl  

      Q-6.Which of the following is the brain of the computer? 
           buesa ls dkSu & lk dEI;wVj dk efLr"d gS & 

(a) CPU    (b) Memory  (c) Control Unit   (d) ALU 
 ¼v½ lhih;w   ¼c½ eseksjh  l½  daVªksy ;wfuV   ¼n½ ,y;w 

     Q-7.Which of the following is not a characteristic of computer? 

           buesa ls dkSu & lh  dEI;wVj dh fo’ks"krk ugha gS & 
(a) Versatility   (b) I.Q.   (c) Accuracy    (d) Diligence 

¼v½ cgqeq[kh izfrHkk  ¼c½ vkbZ-D;w-  ¼l½ ’kq)rk   ¼n½ ifjJe  

     Q-8.Smallest unit of data in a computer? 

           dEI;wVj esa MkVk dh lcls NksVh bdkbZ gS & 
(a) Bit    (b) BYTE   (c) KB     (d) MILIGRAM 

  ¼v½ fcV   ¼c½ ckbV   ¼l½ dsch     ¼n½ feyhxzke  

     Q-9.Which of the following are  physical devices of a computer? 

           buesa ls dkSu&lh  dEI;wVj dh fQftdy fMokbl gS & 
(a) Software   (b)Hardware   (c)  System Soft ware   (d) Package 
¼v½ lkW¶Vos;j   ¼c½ gkMZos;j  ¼l½ flLVe lkW¶Vos;j   ¼n½ iSdst  

  Q-10.Where does any program open first in the computer? 

           dEI;wVj esa dksbZ Hkh iksxzke lcls igys vksiu  gksrk gS & 
(a) Primary Memory   (b) Virtual Memory (c)  Internal Memory  (d) Secondary Memory 
¼v½ izkbesjh eseksjh    ¼c½ opqZvy eseksjh ¼l½  baVjuy eseksjh  ¼n½ lsdaMjh eseksjh  



 

     Q-11.Which of the following is non – volatiles storage? 

           buesa ls dkSu&lh ukWau oksysVkby LVksjst gS & 
(a) Backup    (b) Secondary  (c)  Primary   (d) Cache 
¼v½ cSdvi   ¼c½ lsdsaMjh  ¼l½  izkbejh   ¼n½ dsps  

     Q-12. Static and Dynamic are types of------? 

             LVsfVd vkSj Mk;ukfed ----------- ds VkbIl gSA  

    (a) RAM    (b) ROM  (c) ALU   (d) CU 

      ¼v½ jSe   ¼c½ jkse   ¼l½ ,,y;w    ¼n½ lh;w   

     Q-13 ……  is an Operating system? 

           -------------- ,d vkWijsfVax flLVe gS & 
(a) MS Word  (b) Google Chrome  (c)  Windows   (d) Notepad 
¼v½ ,e,l oMZ   ¼c½ xqxy dzkse  ¼l½ foUMkst   ¼n½ uksVisM  

     Q-14. LLML stand for? 

             LLML dk vFkZ gS & 
(a) Low link Meta Line   (b) Low Level Machine Language    
(c)  Link Line Meeting Language             (d) Low Line Machine Language 

¼v½ yks fyad esVk ykbu    ¼c½ yks ysoy e’khu ySaXost     
¼l½ fyad ykbu ehfVax ySaXoSat    ¼n½ yks ykbu e’khu ySaXost  

Q-15.  The Generation based on VLSI Microprocessor for? 

           dkSu & lh tujs’ku oh,y,lvkbZ ekbdzksizkslslj ij vk/kkfjr gS & 
(a) Second Generation   (b)  Third Generation    
(c)  Fourth Generation              (d) None of these 

¼v½ lsdaM tujs’ku    ¼c½ FkMZ tujs’ku     
¼l½ QksFkZ tujs’ku     ¼n½ buesa ls dksbZ ugha 

     Q -16. … Generation of Computer started with using vacuum Tubes as the basic component. 

         ----------- tujs’ku esa dEI;wVj esa oSD;we V~;wc dks csfld dEiksusaV ds :Ik esa mi;ksx esa yk;k x;kA 
(a)  First Generation    ( b) Second Generation 

(c) Third Generation     (d) Fourth Generation  

¼v½ QLVZ tujs’ku     ¼c½ lsdaM tujs’ku 

¼l½  FkMZ tujs’ku     ¼n½ QksFkZ tujs’ku 

     Q -17 ULSI stand for? 

           ULSI dk vFkZ gS?  
(a)  Ultra Large Scale Integration  ( b) Under Lower Scale Integration  

(c)  Ultra Lower Scale Integration  (d) Under Large Scale Integration    
¼v½ vYVªk yktZ LdSy baVsxzs’ku   ¼c½ vaMj yksoj LdSy baVsxzs’ku  
¼l½ vYVªk yksoj LdSy baVsxzs’ku    ¼n½ vaMj yktZ LdSy baVsxzs’ku  

     Q -18  ……Is DTP software - 

            ------- MhVhih lkWa¶Vos;j gS -  

(a)  Notepad  ( b) Ms Word  (c) PageMaker   (d) Paint Brush   
¼v½ uksVisM   ¼c½,e ,l oMZ   ¼l½ i st esd j    ¼n½ isaV cz’k  

     Q -19  ……Is an Office Package  software - 

            ------- vkfQl isdst lkWa¶Vos;j gS -  
(a)  WordPad  ( b) Ms PowerPoint  (c) Ms Paint   (d) Collocutor   

¼v½ oMZisM   ¼c½,e,l ikWojikbaV  ¼l½ , e, l  i saV   ¼n½ dSYdqysVj 

     Q -20 Full form of DTP - 

             MhVhih dk iwjk uke gS -  

(a) Desk Top Printing     ( b) Desk Top Publishing  

(c) Desk Top Printing      (d) Desk Top Page   
¼v½ MsLdVkWi fizafVax  ¼c½ MsLdVkWi ifCyf’kax   ¼l½ MsLdVkWi fizafVax ¼n½ MsLdVkWi ist 



 

PMB Gujarati Commerce College, Indore 

Internal Exam – 20… -20… 

B.Com – I year 

Subject:- Personality Development (Vocational) 

    fo"k;%& O;fDrRo fodkl  

     Q-1. Identify the advantages of writing- 

            fy[kus dh ykHkksa dh igpku djsa &  
(a)The speaker himself did not have to be present in order to communicate 

( b)The knowledge of one generation could be accumulated and passed on to the next  

(c) Both a & b    (d) we can represent what we want   
¼v½ laokn djus ds fy, oDrk dks Lo;a mifLFkr gksus dh vko’;drk ugha Fkh  
¼c½ ,d ih<h dk Kku lafpr fd;k tk ldrk gS vkSj vxyh ih<h dks fn;k tk ldrk gSA   
¼l½ v vkSj c nksuksa   ¼n½ ge tks pkgrs gSa mldk izfrfuf/kRo dj ldrs gSa A  

     Q-2. The general categories of communication are - 

            Lakpkj dh lkekU; Jsf.k;ka gaS -  

(a) Speech, Writing     (b) Printing    

 (c) Electronic communication     (d) All of above   
¼v½ cksyuk ] ys[ku ¼c½ eqnz.k    ¼l½ bysDVªkfud lapkj ¼n½ buesa ls lHkh 

     Q-3. There are factors of success. 

            lQyrk ds dkj.k gSa gS-         
(a)To be optimistic   ( b)Sympathy  (c) Help   (d) All of  above    
¼v½  vk’kkoknh gksuk   ¼c½ lgkuqHkwfr  ¼l½ lgk;rk  ¼n½ ;s lHkh  

     Q-4.  Factors affecting failure are 

               foQyrk dks izHkkfor djus okys dkjd gaS -  
(a) Luck of time    ( b ideology  (c) Clear objective  (d) All above these)  

(v ½ le; dh deh  ¼c½ fopkj/kkjk  ¼l½Li"V mís’;   ¼n½ mi;qZDr lHkh 

     Q-5.  By removing negative thoughts - 

   udkjkRedrk fopkjksa dks nwj djds -  
(a) Trust decreases    ( b) Confidence increases   

(c) Belief remains unchanged   (d) All of these   
¼v½ fo’okl de gks tkrk gSa   ¼c½ vkRefo’okl c<rk gS    
¼l½ fo’okl vifjofZrZr jgrk gS   ¼n½ mi;qZDr lHkh  

     Q-6.Confidence from recognizing your strengths- 

  viuh rkdr dks igpkuus dk vkRefo’okl -  
(a) Will increase   ( b) Will decrease (c) Will end  (d) None of these   

¼v½ c< tk,xk   ¼c½ ?kV tk,xk  ¼l½ lekIr gks tk,xk ¼n½ mijksDr esa ls dksbZ ugha 

     Q-7.  A  SWOT analysis at? 

    ,d SWOT fo’ys"k.k ns[krk gS -  
(a) The Internal factors only    ( b) The external factors only  

      (c) Both Internal   and external    factors   (d) none of above  
¼v½ dsoy vkarfjr dkj.k     ¼c½ dsoy ckgjh dkj.k    
¼l½ vkarfjr vkSj ckgjh nksuksa dkj.k    ¼n½ mijksDr esa ls dksbZ ugha 

     Q-8.  SWOT Stand for - 

   SWOT dk eryc gS   
(a) Trust decreases    ( b) Confidence increases   

     (c) Belief remains unchanged    (d) All of these   
    ¼v½ rkdr] HkykbZ] volj] [krjk    ¼c½ vpkud detksfj;ka] mRd`"V [krjs    
    ¼l½ [krjksa ij dkcw ikus ds lkekftd rjhdds  ¼n½ rkdr] detksjh volj] [krjs   



 

     Q-9.Make sure the goal can be reached by creating step – by – step plan outlining exactly how you 

plan to accomplish the goal. 

  l q f uf ’pr d jsa f d ] y{; d k s iwjk  d jus d s f y,  -  
(a) S    ( b) M   (c) A   (d) T   

¼v½ ,l    ¼c½ ,e   ¼l½ ,l   ¼n½ Vh 

     Q-10.What does the “S” in SMART stand for? 

    Lek VZ   esa *, l ** d k  D;k  vF kZ g S  -  
(a) Simple – a goal must be easy ( b) Smart – a goal inputs make sense    

(c) Specific- a goal must be focused (d) Sample – a goal must be typical   
¼v½ ljy & ,d y{; vklku gksuk  ¼c½ LekVZ & ,d y{; dks le>uk     
¼l½ fof’k"V & ,d y{; dsfUnzr gksuk  ¼n½ uewuk &,d y{; fof’k"V gksuk 

     Q-11.One of the following things is not a scheduling method. 

               fuEufyf[kr phtksa esa ls ,d ’ksM`;wfayax ugha gS & 
(a) Dairy   ( b) Time table  (c) To do lists  (d) Social media   

¼v½ Mk;jh    ¼c½ le; lkfj.kh  ¼l½ lwfp;ka djus ds fy, ¼n½ lks’ky ehfM;k  

    Q-12.Which word means the time by which something must be completed? 

              fdl ’kCn dk vFkZ ml le; ls gS] ftlds }kjk dqN iwjk fd;k tkuk pkfg,\ 
(a) Chore   ( b) Consequence (c) Dead line  (d) Goal   

¼v½ dke   ¼c½ ifj.kke  ¼l½ le; lhek  ¼n½ y{;     

   Q-13.Which of the following statements is true? 

               fuEufyf[kr esa ls dkSu ls dFku lR; gS & 
(a) In small quantities, stress is good   ( b) Too much stress is harmful  

(c) All stress is bad      (d) only’ 1’ & ‘2’ are right 
¼v½ de ek=k esa ruko vPNk gksrk gS    ¼c½ T;knk ruko gkfudkjd    
¼l½ lkjk LVsªªl [kjkc gS     s¼n½ dsoy 1 vkSj 2 gh lgh gS 

   Q-14.The following are the characteristics of Positive stress - 

        ldkjkRed ruko dh fo’ks"krk,a fuEufyf[kr gS & 
(a) The improves performance    ( b) It feels exciting  

(c) It motivates       (d) All of the above 
¼v½ ;g izn’kZu esa lq/kkj djrk gS    ¼c½ ;g jksekapd yxrk gS    
¼l½ ;g izsfjr djrk gS            ¼n½ Åij ds lHkh 

   Q-15.your resume is a tool with one specific purpose- 

             vkidk jsT;qe ,d fof’k"V mÌs’; okyk ,d Vqy gS & 
(a) To get a job      ( b) To win an interview  

(c) To discuss salary      (d) To know about work 
¼v½ de ek=k esa ruko vPNk gksrk gS    ¼c½ T;knk ruko gkfudkjd    
¼l½ lkjk LVsªªl [kjkc gS     s¼n½ dsoy 1 vkSj 2 gh lgh gS 

     Q-16.CV stands for - 

 CV dk eryc gS -  

(a)Curriculum vitae   (b) Curriculum velocity   

     (c) Curriculum volt   (d) Curriculum verse    
      ¼v½ ikB~;p;kZ thou    ¼c½ ikB~;p;kZ osx  ¼l½ ikB~;p;kZ oksYV  ¼n½ ikB~;p;kZ i| 

Q-17. A Group Discussion is - 

         ,d lewg ppkZ gS -  

(a) Communication of ideas  (b)Constructive and cooperative (c) Both (d) None    

¼v½ fopkjksa dk lapkj ¼c½ jpukRed vkSj lgdkjh  ¼l½ nksuksa     ¼n½ dksbZ ugha 

Q-18. What is the dress code for a Group Discussion - 

         Lkewg ppkZ l= ds fy, lgh Msªl dksM D;k gS?   
(a) casual ( b) Any dress will do  (c) Formal    (d) Jazzy  



¼v½ vkdfLed  ¼c½ dksbZ Hkh iks"kkd  ¼l½ vkSipkfjd     ¼n½ tSth 

Q-19. Which one Do in an interview?   

        Lkk{kkRdkj esa D;k dkjuk gS -  

(a) Calm approach    (b) Nervousness    

(c) Dress properly      (d) Lie about your ability to get job  

¼v½ ’kkar n`f"Vdks.k   ¼c½ ?kcjkgV  ¼l½ vuvkSipkfjd iks’kkd ¼n½ vR;f/kd b’kkjk 

Q-20. Which one is ‘Don’t in an interview  - 

          dkSulk lk{kkRdkj esa ugha gS -  
(a) Be confident    ( b) Proper eye contact     

(c) Dress properly   (d) Lie about your ability to get job  

¼v½ vk’oLr jgsa    ¼c½ mfpr us= lEidZ   
¼l½ Bh d  ls i k s’k kd    ¼n½ ukSdjh ikus dh {kerk 

 

 

      


